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Interactive Question

A boat carrying a large boulder is floating on a lake. The
boulder is thrown overboard and sinks. The water level

in the lake, with respect to the shore

A) rises.
B) drops.
C) remains the same.



Interactive Question

Consider an object that floats in water but sinks in oil.
When the object floats in water, half of it is submerged.

If we slowly pour oil on top of the water so it completely
covers the object, the object |

A) moves up.
B) stays in the same place.
C) moves down.
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